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QUESTION 1

As the quantity of services in service inventories increase, the potential for service compositions to become larger and
more complex increases also. Select the correct answer.

A. True
B. False

Correct Answer: A

QUESTION 2

The following statement describes the relationship between the Service Reusability principle and which other design
principle? "Because of the potentially high performance and concurrent usage demands of reusable services, the extent
of control they can exercise over their underlying environment is an important design consideration in guaranteeing an
acceptable level of predictable runtime behavior." Select the correct answer.

A. Standardized Service Contract

B. Service Abstraction

C. Service Autonomy

D. Service Loose Coupling

Correct Answer: C

QUESTION 3

Which of the following characteristics is not a result of the consistent application of service-orientation principles? Select
the correct answer.

A. reduced dependencies between services

B. increased availability and scalability of services
C. reduced behavioral predictability of services

D. increased awareness of services

Correct Answer: C

QUESTION 4

Service-orientation establishes a distinct approach to carrying out a(n) . Select the correct
answer.

A. separation of concerns
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B. identification of constructs
C. inheritance of contracts
D. refactoring of code

Correct Answer: A

QUESTION 5

Which of the following statements is true? Select the correct answer.

A. A composition member is a service that is not composed by other services.
B. A composition member is a service that is composed by another service.
C. A composition member is the same as a sub-controller.

D. None of the above statements are true.

Correct Answer: B
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